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Question 1

Question Type: MultipleChoice

Which command should an administrator use to determine the SmartlO cache hit ratio for the /data file system?

Options:

A- vxcache stat /data
B- sfcache stat /data
C- vxstat smartio /data

D- vxioadm stat /data

Answer:

B

Question 2

Question Type: MultipleChoice




Which benefit is acquired using SmartTier?

Options:

A- the one-time assignment of application files to a storage class
B- the automatic migration of files between storage types based on file system type
C- the migration of files in response to application downtime

D- the transparent move of data based on policies that implement business requirements

Answer:

Question 3

Question Type: MultipleChoice

Given the following command:

vxassist -g datadg make datavol 10g layout=stripe !ctrl:c2



Which instruction does the !ctrl.c2 attribute prompt Volume Manager to follow?

Options:

A- to exclude devices connected to controller c2
B- to exclude devices connected to all controllers except c2
C- to exclude devices from enclosure named "ctrl"

D- to exclude all but the fastest devices from controller c2

Answer:

D

Question 4

Question Type: MultipleChoice

Which two values for the sriprot attribute will stall the writes on the operating system when the RLINK is Connected (Choose two.)

Options:




A- autodcm
B-dcm

C- fail

D- override

E- off

Answer:

B,D

Question 5

Question Type: MultipleChoice

Which Veritas Volume Manager (VxVM) disk format should an administrator use to allow a disk to be portable between operating
systems?

Options:

A- Simple Disk



B- Partitioned Disk
C- CDS Disk
D- Sliced Disk

Answer:

C

Question 6

Question Type: MultipleChoice

Veritas File System is an extent based file system.

Which two pieces of information form the basis of an extent? (Choose two.)

Options:

A- inode number

B- offset



C- length
D- format

E- block size

Answer:

A B

Question 7

Question Type: MultipleChoice

Refer to the exhibit.
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What is the layout of the volume described in the vxprint output provided in the exhibit?

Options:
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A- mirrored volume with each mirror made up of concatenated subdisks (mirror-concat)

B- mirrored volume with each mirror made up of striped subdisks (mirror-stripe)

C- layered volume striped across mirrored subvolumes (stripe-mirror)

D- layered volume formed by concatenation of mirrored subvolumes (concat-mirror)

Answer:

B



Question 8

Question Type: MultipleChoice

Which two commands are used for thin reclamation? (Choose two.)

Options:

A- fsadm
B- vxdctl

C- vxdisk
D- vxtune

E- vxdmpadm

Answer:

A C

Question 9

Question Type: MultipleChoice




Which object is stored in the private region of a Veritas Volume Manager disk?

Options:

A- File Change Log
B- FastResync maps
C- Configuration database

D- Storage Replicator Log

Answer:

Question 10

Question Type: MultipleChoice

Which two requirements must an administrator consider prior to implementing SmartlO? (Choose two.)



Options:

A- The device must have CDS disk format.

B- Veritas file system (VXFS) disk layout must be version 9.

C- Three nodes are required for VXFS writeback caching.

D- Veritas Volume Manager (VxVM) disk group must be version 180.

E- Cache must be local to each node.

Answer:

C E
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